Lecture 12

Subordination- (Aiiua ) 4600 Jaad)

In Lecture 1 we said that sentences can be divided into simple, compound and complex
sentences. We discussed simple sentences in detail in previous lectures, especially Lecture
10, and compound sentences in Lecture 11. In this lecture, we will discuss complex

sentences.
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A complex sentence- 4 sl Jaad)
has two or more clauses joined by a subordinating conjunction. At least one of the clauses is

subordinate to a main clause.
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A main clause- (Aiuall) dps 2 dlagl
(also known as an independent clause) is a clause that can stand alone as a complete

sentence.
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A subordinate clause- 4&iwe pall aleall
(also known as a dependent clause) is a clause that cannot stand alone as a complete

sentence.
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A clause can be subordinate by being able to do one of the following:
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1- replace an NP in the main clause- (4xbad)) Aliiual) alaal) 8 dracd) o jlal) Jlasin

e.g. Everyone could see it.

Everyone could see (that) he was frightened.

The subordinate clause “that he was frightened” is a noun clause. It functions as the object of
the verb “see”.

Everyone could see it
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see Jadll 4 Jgrie sag jam =it [/ Jaill = see
(that) he was frightened — slilaiuld (s 6l 5IK0) jt seall Jan | (adfiie e = 455l = saila) alea (585 e

5 s (Everyone could see 4w o juall) o adiad alitus ye 4358 4laa = 4 : (that) he was frightened
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2- modify an NP in the main clause- (Aiiwall) sl ddaad) 3 Asacd) o jlad) Sy

e.g.

| often see my old school friends.

| often see friends who were at school with me.

The subordinate clause “who were at school with me” is called a relative clause. It functions

as a modifier of the NP “friends”.
| often see my old school friends.
.. 4xanl o jle 2 my old school friends s_bal)

. my old school friends 4! 5 sl i ) =head = friends

Gl Jare = aul Jamy aud=school / (b Jae = 4da =0ld /| Bbe Jae = jea = My
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friends oV W Jas3 ( subordinate clause =4liiue e IS alany) leasan C¥anall 028 Jlaiind gabiin

Aol 5 jlaall Jaad 51K s sa= "who were at school with me" Jéiwe e 35K 5 “my old school" 4xewY) o jlall Llagola
.main clause = 4l dea = (I often see friends)

Jaxd 5 Apul) aleall 4y i3 L aliiee yall alaadl 5 subordinate clause= 4liiwe ye dea= 34IS = (who were at school with me)
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3- replace an adverbial in the main clause- 4sawl! o liall (& (ciall) Jadl Jladiul

e.g.

| met Ahmed twenty years ago.

I met Ahmed when | was at school.

The subordinate clause “when I was at school” is an adverbial clause of time. It functions as

an adjunct in the main clause “I met Ahmed.”
I met Ahmed twenty years ago.
oLl ks = twenty years ago

*s adverbial clause of time. 4y "(when | was at school) 55 55" .. "twenty years ago Ol <y "Jlatiu) sk
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A subordinate clause is usually introduced by one of the following:
s AUl LS aai Bale Lgluay 4y gilil) Alagl)
1. a subordinating conjunction- :4; sl cilaal) Cag
when or that :Jis
2. a relative pronoun- Jea il s

who, which, whose : Jis

Compare:
1. a. He was frightened. (Independent Clause = 4w 4lea)
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1. b. that he was frightened (Subordinate/Dependent Clause= that— < L3y aliiue e alea )
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2. a. | was at school. (Independent Clause= 4lius 4las)
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2. b. when | was at school (Subordinate/Dependent Clause= When= Céw Lty alite e alea)
Al Ales el Al 3538 ) 2lias

Examples “1.a” and “2.a” are independent clauses. They are . complete sentences by
themselves

not Examples “1.b” and “2.b” are subordinate clauses. They are be added to . A main clause
must complete sentences on their own*“1.b” and “2.b” if we want to make a complete
sentence from them

Exercise : cn S

Decide whether the underlined clause is:

1- It was obvious to everyone that he wanted to leave
a. dependent b. independent

2- He wanted to leave and this was obvious to everyone
a. dependent b. independent

3- My friends came to visit me when | was in Dammam
a. dependent b. independent

4- My friends came to visit me, but | was in Dammam
a. dependent b. independent

Subordination:-

Types of Subordinate Clauses s Jaall g)il..

1- Noun Clauses — 4w/ alaall

2- Relative Clauses —J-—=4ll ilea

3- Adverbial Clauses- (Ja) 4 yall alaal)

4- Other- s _A! (Conditional Clauses- 1k, deall, Result Clauses- 4xiiill 4las, Purpose Clauses
4 e 4leaete)

= We will take a look at each of these types in the following sections starting with noun

clauses
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Noun Clauses

We can divide noun clauses into that-clauses and wh-clauses.

A that-clause begins with “that” and a wh-clause begins with a wh-question word, e.g. what,
who

(that-clauses = that = Tag i Jeall / wh-clauses =Wh. = 1x (il Jeall)cpend (I dpand) Jaall apnsdi LiSay
aliy) o &0 = (what where who) Jis <ilalSs alaall a5 wh-clauses =Wh.= 1 ) Jeal)

That 4 sale 4laall a5 =that-clauses = that fag il Jeal

A. That-clauses - that Aaa

A that-clause can have four of the functions of the NP. It can be:
NP 4saul o jlanll Cailia s (po ailin s day i 330 That dlea

1) Subject of a Verb in another clause — s_A) 4das & J2dll Jelb
That the driver could not control his car is obvious.
(=It is obvious.)




- w\}{\ o)\_.ud\ . dJLuJ\ d\_ml‘ ‘;

O dal LY Jeli It o sSins L It is obvious ="It" sesall (o ledaw oy aSlll 5 Jeli = the driver could not control his car
" the driver could not control his car" s I Jelll

4SS = obvious / Jxd = s

Note: “That” is obligatory in this sentence. We cannot delete it.
Ledda (S Y dleall 038 A& " obligatory— 4 ka!" That 4elS

2) Object of a Verb in another clause — : s Af daa b Jaill 4 Jgrda
e.g. Everyone could see (that) he was frightened.
(=Everyone could see it.)

Jzé=see / dJis=could / J=l=Everyone
Everyone could see it = it _xeall dlaiul (Sag ., see dzill 4 J 52 = (that) he was frightened

Ol &y (that) he was frightened 4xen¥) alaall Gl @3] LY" | see Jxill 43 Jg2da ™ Everyone could see it" dlaall b jt aKS
" gt 345

Note: “That” is optional in this sentence. We can delete it.
Ledia LSy Gl jla) Cand g Aleall (84 jl3a) Ls That 4elS

3) Complement of Subject +BE —Be J2 + Jelill dless
e.g. The truth is (that) he was very shy.
(= The truth is this.)

The truth is (that) he was very shy /J«

clusdad=js / Jeld = The truth

cadeall Jiea JaSi o Y | S o 4sall= The truth is) Js& o) aekind ¥ | acluall Jadll 5 Jeldll 4S5 = (that) he was very shy
The truth is this =(this) 5L auls La aleSill Joas aplais

Note: “That” is optional in this sentence. We can delete it.
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4) Apposition (to nouns like “fact”, “truth”, “explanation”) — a=¥) (e Jad)

e.g. The fact that he was shy surprised me.

“That he was shy” is an appositive noun clause that refers to the same thing as the NP “the
fact”. We say that the noun clause is in apposition to the NP.

sl Lanl 5 5le = NP = The fact
Ju = s Al 4l dea = Noun Clause = that he was shy
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Note: “That” can sometimes be deleted in this case.
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Reported Speech:- J siiall a3l
can be either direct or indirect. site se o5 (Sans Hile 058 (Sae Jiiall 23IK)
a) Direct speech- jdilsall J saial) a3\<l)
IS quoting the actual words spoken by someone. In this case, we write the quoted sentence

between quotation marks (““ ).
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e.g. The man says, “The road is closed.” (direct speech using quotation marks)
o) BY) Laadiads | o pally da I WIS s L) LY i) = 53l J sie 23S = The man says, “The road is closed” :Jt

b) Indirect speech- sdibm il J fiial) 2Nl

is restating the words spoken by someone. We can use a “that-clause” to report indirect
speech.

The man says (that) the road is closed. (indirect speech using a that-clause
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The man says (that) the road is closed. (indirect speech using a that-clause
that 4alS Lexti) GllN L jlay oSl ¢ Uhe = il e J 58k 38 = The man says (that) the road is closed : Jis

B. Wh-clauses- Wh = 18 1) Jaal)
A wh-clause can have four of the functions of an NP. It can be:
NP 4pens¥l o jlall il g (e Cailiag § a5 WhA) Jea

1- Subject of another clause- 4t il Jold
e.g. What caused the accident is a complete mystery.
(= It is a complete mystery.)

s Gl JUl) @
It is a complete mystery ="It" sl Aoy + | Jeld = What caused the accident
Ldad = s

2- Object of a verb in another clause- s i ddaa 8 Jaill Jg2da
No one knows what caused the accident.
(= No one knows it.)

No one knows what caused the accident /Jls
J=d = Knows / J=ld =No one

No one knows it = it_seall Ldaiud ja8 5 knows Jzdll 43 J szde Uia Lgidua g + 4aul o e = what caused the accident

3- Complement of Subject +BE- &gl Jab + ixiall 5i Jolill Alass
The question is what caused the accident.
(=The question is this.)

Gl JEa)
xclbue J2d = js / Jeld = The question




(this) 3 LY auls Lelaiiv jaii g ¢ acbusall Jadll 5 Ixiaall 4S5 + 4saud o jle = what caused the accident

4- Object of a preposition- s dial 4 Jgda
This depends on what you want.
(=This depends on it.)

Sl Jadl b
"Jeld RO RN alaal) 538 ‘_g Jeld EL X U\..i\ rz.uz\ = This

< a=o0n / Jx=depends

This depends on it = it Adaiud )38 5 on Jall sl 4y Js2ée + 4enl 5 e = What you want

Exercise

What is the function of the underlined clause?

1.that no one could do itl. The fact is

a. subject b. object c. complement d. appositive
2.was important for science.What he discovered

a. subject b. object c. complement d. appositive
3.disappointed me. that no one could do it3. The fact
a. subject b. object c. complement d. appositive
4.that he made a great discovery4. Everyone knows
a. subject b. object c. complement d. appositive
5.what the manager has to say5. The workers rely on
a. subject b. object c. complement d. appositive
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